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INTT/hachiya/convertinttRaw/testl : Z# 3 — K
ConvertInttData.h/cc InttEvent.h/cc LinkDef.h
runConvertinttData.C

INTT/hachiya/convertinttRaw/testl/anlysis : ##ra3— K
AnalyzelnttEvent.h/cc LinkDef.h
runAnalysis.C
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(My) Event-based INTT data tree

e InttEvent
« eventSequence (from EVT)

o nHits (nhits from all ladders in this event)
o InttHit[] (variable length array of hit objects by TClonesArray)

o InttHit
e int pid;
e int adc; ampl, chip_id, chan_id, module;
e int bco;
 Longb4 t bco_full;
e Int evt;

* introc, barrel, layer, ladder, arm;
« int full_fphx, full_roc;



 Before/ after sorting

calib_intt©-0008080659-08000.root
ile calib_intto-0©0008059-0000.root
ctor InttEvent

Evt : 2

Data from run 8059

calib_intte-000e8059-0009.root
calib_intte-00008059-0000.root

file calib_1ntt©-66688659-68068.root
ctor InttEvent
Evt : 2

KEY: TTree tree;2 tree - 5
KEY: TTree tr*eezl tree Nhits — Nhits 56? . .
root [2] tree->Print() module chip_id chan_id adc ampl module chip_id chan_id adc ampl
fkkkkokkkkkkkkkokkkkkkkkkkkkkkkkokkokkk ok kb kkkkk kb kkkk bk sk kk ko kk sk kk sk kk ok k bk ok kkk kb k ¥k =] 18 119 %] %] %] 2] %] %] %]
*Tree :tree : tree S e 23 185 3 e e 1 117 p e
*Entries : 15269 : Total = 176580538 bytes File Size = 15927317 * e 18 85 5 e e 7 5 7 e
& : : Tree compression factor = 11.18 * 0 e e e e ) 8 125 7 e
kkkkkkckckkckkkkchkckckkkkhckk ko kkckckckskckk sk chckckkkk sk ki sk ks k ke kckckskcksk sk ok hchcksksk sk k sk sk ok k ok sk hck sk sk sk sk sk ok sk ok
T — . e 8 125 7 e e 1@ 119 e e
*Entries : 15269 : BranchElement (see below) * e Y > 7 e ° 16 120 1 e
............................................................................ i e 24 le4 2 e e 16 11 1 e
@ :fUniquelID : UInt_t g e 24 185 1 e e 18 85 5 e
*Entries : 15269 : Total Size= 62189 bytes File Size = 1133 * e 16 11 1 e e 19 97 3 e
*Baskets 8 : Basket Size= 8000 bytes Compression= 54.44 * 0 ) 97 3 e e ) 98 5 0
...... i.'%éiéé..".;'Oiéé.é".'.'.....""..'..'.."...'.".".'....."'..'.: e 10 120 1 e 8 21 89 5 6
*Entries 15269 : Total Size= 124861 bytes File Size = 22738 * e 19 %8 5 e ° 21 %@ 4 e
*Baskets 24 : Basket Size= 8000 bytes Compression= 5.46 * < 1 117 2 e e 23 1e5 3 e
............................................................................ * e 21 89 7 e e 24 1e4 P e
' 2 :evtSeq : Int_t . ) . * 2] 21 1] 4 e =} 24 185 1 e
::ntrles 15269 Total S:{.zei 62153 bytes File SlZF..‘ i 22240 * 1 e 2] e e 1 9 0 e 0
askets : 8 : Basket Size= 8000 bytes Compression= 2.77 : 1 5 38 1 ) 1 2 2 ) e
3 . fNhits . Int_t * 1 5 39 7 © 1 E e 2 e
*Entries : 15269 : Total Size= 62153 bytes File Size = 16262 * 1 6 18 1 e 1 3 17 ]
*Baskets : 8 : Basket Size= 8080 bytes Compression= 3.79 & il 7 44 4 e 1 3 2 1 e
............................................................................ < 1 8 32 1 e 1 4 49 7 e
) 4 :fhitArray : Int_t -Fh:!.tAr'r'ay_ ) . * il 14 124 ) e 1 4 50 6 0
e eeare i e 1 8 33 7 0 1 4 517 @
R . 1 17 56 © e 1 4 52 7 e
5 :fhitArray.fUniqueID : UInt_t fUniqueID[fhitArray_] * 1 9 21 1 e 1 4 53 4 e
*Entries : 15269 : Total Size= 9283999 bytes File Size = 230838 * 1 17 57 4 e 1 5 38 1 e
*Baskets : 1325 : Basket Size= 8000 bytes Compression= 40.10 & 1 S 22 7 e 1 5 39 7 e
1 ] ]
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Clustering also done

adc
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